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TumoN Year 5 Worksheet 3: Multiplication and Division

Level: Beginner

THE POWER OF
KNOWING

.6'8="7

.712'8=7

. Double 36

. Halve 84

.5"'12="7

. Share 60 between 5 people equally.
. Multiply: 7" 4

Divide: 48' 6

Countin 25s: 25,50,  ,

10. What is 10 times bigger than 93?

[Use the space below to work out your answers. Show all your working.]



TumoN Year 5 Worksheet 3: Multiplication and Division

Level: Intermediate

THE POWER OF
KNOWING

1.243'3 =7

2.124'4="7

3. A box holds 6 apples. How many in 12 boxes?
4. Divide 325 by 5

5. Multiply: 38 ' 7

6. Divide: 672"'8

7. 5 children share 160 stickers. How many each?
8. Is 63 divisible by 97

9. What's the remainder of 74 ' 9?

10. Write a word problem using 6 ' 14

[Use the space below to work out your answers. Show all your working.]



TumoN Year 5 Worksheet 3: Multiplication and Division

Level: Difficult

KNOWING

1.324'23="7

2. 2,486 ' 7 = ? (long division)

3. A crate has 24 boxes. Each box has 36 items. Total?

4. Estimate: 149 ' 28

5. Round 472 to nearest 10 and multiply by 6

6. Divide: 1,764 ' 12

7. A school orders 15 packs of pencils. Each pack has 48 pencils. Total?
8. A cake recipe needs 3 eggs. How many eggs for 9 cakes?
9.7'46="7

10.320'4 =7

[Use the space below to work out your answers. Show all your working.]



uoy /g Year 5 Worksheet 3: Multiplication and Division

Level: Super Challenging

KNOWING

1. A book has 236 pages. How many pages in 15 copies?

2. A factory produces 1,245 items per day. How many in 6 days?

3. Atrain has 12 carriages. Each holds 78 people. What's the total capacity?
4. Solve and check: 1,428 ' 12

5. A farmer packs 842 apples into boxes of 6. How many full boxes?

6. Write a two-step word problem involving both " and .

7. Explain how you could mentally estimate: 241 ' 19

8. A product costs '46. What is the cost of 17 products?

[(e]

. A rope 875cm long is cut into 7 pieces. How long is each?

10. How many 6s in 1,0567?

[Use the space below to work out your answers. Show all your working.]



